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No 5 PN B DIERE o L-134 o L-137 SEfE

Bag. kg Ba. kg Ba ke
1 =Em R7.5.9 FARINSHR BREE9(<5.9) BRHE9(<5.0) BRHEEY
2 wBE™ R7.5.12 YIRS BRHET(<4.4) BREET(<4.1) BRHEET
3 SEENT R7.5.13 M2k (EER BRHET(<4.2) BRHE9(<3.8) BREed
4 SEHWTH R7.5.13 YN IR (%) BREE9(<5.1) BRHEE9(<4.0) -
5 SEENT R7.5.13 =5 BRHE9(<6.5) BRHE9(<5.2) BREed
6 WhET R7.5.12 <k (FEER) BRHEE9(<3.3) BREE9(<2.7) -
7 =17 R7.5.12 FRINSHR BRHEE9(<3.8) BRHE9(<L3.7) BEed
8 EMEEm R7.5.12 7% BRHEEY(<4.6) BRHEET(<41) BT
9 FEH R7.5.13 HYIURY BRHET(<4.0) BRHE9(<3.3) BRHEET
10 E RHET R7.5.13 IR BREE9(<5.7) BRHEE9(<4.9) BT
11 T SERET R7.5.13 =5 BRHE9(<6.9) BRHET(<41) BEed
12 [icEgE i) R7.5.9 =5 BREE9(<7.8) B®RHE9(<6.3) - daskcac
13 FasEAT R7.5.8 ¥Joyal)—(EER) BRHET(<L5.5) BRHE9(<3.2) BRHEET
14 A RRET R7.5.13 =5 (feEk) BRHEE9(<4.6) BRHEE9(<4.9) - daskcac
15 =R T T R7.5.13 wHOLIYY BREEI(<4.1) BRHEE3(<45) BEed
16 iR THT R7.5.13 =3 BRHE9(<6.6) BRHEE9(<5.5) BrEed




BREHR

No 15 REH AHDEHE > L-134 > L-137 BEIE
Ba ke Ba ke Ba kg

17 EipE o) R7.5.9 Fay) (FEs%) BRHEET(<4) R 9(<4.0) BRHEEY
18 PE A R7.5.9 ¥ BRHE9(<3.9) BRHEEY(<44) > Jarkcacl
19 SRIBHAS R7.5.9 J8yal)— (k%) BEHES(<7.1) Bt 9(<5.4) BEEY
20 ¥ R7.5.9 Joyal)— (e BHEE7(<52) BHET(<3.7) BHEEY
21 K WRHET R7.5.9 RAFYTITURY (HEE%) BHE9(<7.3) Bt 9(<45) BEEY
22 tRET R7.5.9 Fal) (EEk BRHEEY(<54) BRHEET(<41) > Jarkcacl
23 EodllE Sy R7.5.9 RoLoVY BRHE9(<5.5) BRHEEY(<3) BHEd
24 AJIET R7.5.12 H7 (HEE% BRHE9(<5.0) BRHE9(<3.2) BRHEEY
25 AJIET R7.5.12 T RINTH R (HEER) BRHE9(<38) BRHE9(<3.8) BRHEEY
26 FHH R7.5.13 Ik BRHE9(<6.1) B 9(<45) BRHEEY
27 % IET R7.5.12 85/ A BRHE9(<4.6) BRHEEY(<3.1) BRHEY
28  BRHET R7.5.13 Vi) BRHE9(<43) BRHE9(<3.6) BRHEY
29 [ EFHT R7.5.12 HYIURD BRHEE9(<6.7) BRHE9(<5.8) BRHEET
30 [ EFHT R7.5.12 Vi) BRHE9(<43) BRHE9(<338) BRHEY
31 [ EFHT R7.5.12 =AY BRHE9(<35) BRHEE9(<34) BRHEY
32 HEZEET R7.5.12 I vrAvk BRHEES(<37) BRHEET(<41) BRHEEY
33 = AT R7.5.12 FLE R (783%) BRHEEY(<54) BRHE9(<43) BRHEY
34 JRSTHT R7.5.12 == BRHEE7(<35) BRHEE9(<35) BREEY
35 JRGTHT R7.5.12 ==Y () BRHE9(<45) B 9(<4.6) BRHEET
36 RITHET R7.5.12 LBR BRHEE7(<3.9) BREET(<3) BREEY




BREHR

No BT REH REDIELE t 134 3 L-137 BEIE
Bag. kg Ba. kg Ba kg
37 SRITHT R7.5.12 avyF BRHET(<5.9) BRHE9(<6.7) BRHEET
38 SEITHT R7.5.12 = Ty BREE9(<4.6) BRHEEI(<41) BRHEEY
39 fREE AT R7.5.12 7% BRHE9(<6.5) BREE9(<4.9) BHEEY

BRBEEEICBT2—REROEEE £ 9L 100Ba/kg(E>HL-134, £ L-13TDEEE)




